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MANHIN U

a 4 o a A
Nam‘;:umiwmmumamimmmuammaman (binary choice model)

Luppdiaesladnuuuaesnaudenverus Inana i

e +

| Binary Logit Model for Binary Choice |

| Maximum Likelihood Estimates |

| Model estimated: Jun 05, 2014 at 02:05:57PM. |

| Dependent variable Y |

| Weighting variable None |

| Number of observations 400 |

| Iterations completed 7 |

| Log likelihood function -166.2851 |

| Number of parameters 9 |

| Info. Criterion: AIC = .87643 |

| Finite Sample: AIC = .87758 |

| Info. Criterion: BIC = .96623 |

| Info. Criterion:HQIC = 91199 |

| Restricted log likelihood -266.1099 |

| McFadden Pseudo R-squared .3751262 |

| Chi squared 199.6496 |

| Degrees of freedom 8 |

| Prob[ChiSgd > wvalue] = .0000000 |

| Hosmer-Lemeshow chi-squared = 10.58865 |

| P-value= .15760 with deg.fr. = 7 |
e +
Fom————— o —— R i it t——————— +o——m———— fomm - +
|Variable| Coefficient | Standard Error |b/St.Er.|P[|Z|>z]| Mean of X|
Fom————— o — o e o fom - +
————————— +Characteristics in numerator of Prob[Y = 1]

Constant| -4.55382876 .83850454 -5.431 .0000

MALE | -.88430274 .28520674 53,107 .0019 .58750000
AGE | .09289166 .01426666 6.511 .0000 40.0675000
EDU | 1.80816584 .30491414 5.930 .0000 .45000000
OoC s | 2.08298966 .51772185 4.023 .0001 .07250000
HEA | 1.80579309 1.06694759 1.692 .09006 .06750000
REL | .36265103 .12728316 2.849 .0044 3.06750000
INFO | -.09255049 .14794332 -.626 o Il 3.43000000
e +

Information Statistics for Discrete Choice Model.
M=Model MC=Constants Only MO=No Model

|

|
Criterion F (log L) -166.28510 -266.10990 -277.25887 |
LR Statistic vs. MC 199.64960 .00000 .00000 |
Degrees of Freedom 8.00000 .00000 .00000 |
Prob. Value for LR .00000 .00000 .00000 |
Entropy for probs. 166.28510 266.10990 277.25887 |
NorMENized Entropy .59975 .95979 1.00000 |
Entropy Ratio Stat. 221.94755 22.29795 .00000 |
Bayes Info Criterion .95125 1.45038 1.50612 |
BIC (no model) - BIC .55487 .05574 .00000 |
Pseudo R-squared .37513 .00000 .00000 |
Pct. Correct Pred. 82.25000 .00000 50.00000 |
Means: y=0 y=1 y=2 y=3 y=4 y=5 y=6 y>=7 |
Outcome .3825 .6175 .0000 .0000 .0000 .0000 .0000 .0000 |
Pred.Pr .3825 .6175 .0000 .0000 .0000 .0000 .0000 .0000 |

|

Notes: Entropy computed as Sum(i)Sum(j)Pfit(i,j)*logPfit(i,]j) .
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NorMENized entropy is computed against MO.
Entropy ratio statistic is computed against MO.

|
|
| BIC =
|
|

2*criterion - log(N)*degrees of freedom.
If the model has only constants or if it has no constants,

the statistics reported here are not useable.

o +

| Partial derivatives of probabilities with |

| respect to the vector of characteristics. |

| They are computed at the means of the Xs. |

| Observations used are All Obs. |
o +
fom———— Fom - Fom t-—————— Fom Fom +
|Variable| Coefficient | Standard Error |b/St.Er.|P[|Z]|>z]|Elasticity]
fom———— Fom - Fom t-—————— fom————— Fom +
————————— +Marginal effect for variable in probability

Constant| -.96026486 .18272703 -5.255 .0000
————————— +Marginal effect for dummy variable is P|1 - P|O.

MALE | -.17929131 .05607607 -3.197 .0014 -.15094811
AGE | .01958804 .00298316 6.566 .0000 1.12471863
————————— +Marginal effect for dummy variable is P|1 - P|O.

EDU | .35612025 .05621287 6.335 .0000 .22965174
————————— +Marginal effect for dummy variable is P|1 - P|O.

ocC | .27591857 .04257822 6.480 .0000 .02866682
————————— +Marginal effect for dummy variable is P|1 - P|O.

HEA | .25407909 .08035139 3.162 .0016 .02457725
REL | .07647214 .02689319 2.844 .0045 .33616182
INFO | -.01951610 .03124107 -.625 .5322 -.09592852
o +

| Marginal Effects for|
fom - —— +

| Variable | All Obs. |
fom R i +

| ONE | -.96026

| MALE | =-.17929

| AGE | 01959

| EDU | 35612 |

| OC s | 27592 |

| HEA | 25408 |

| REL | 07647 |

| INFO | -.01952 |

Fom e +
e +
|Predictions for Binary Choice Model. Predicted value is |

|1 when probability is greater than .500000, O otherwise. |

|[Note, column or row total percentages may not sum to |

|100% because of rounding. Percentages are of full sample. |

R o o +

|Actual| Predicted Value | |

|Value | 0 1 | Total Actual |

+———— Fomm o o +

| 0 | 159 ( 28.0%) | 41 ( 10.3%) | 200 ( 50.0%) |

|1 | 15 ( 7.5%) | 185 ( 54.3%) | 200 ( 50.0%) |

e o Fom o +

|Total | 174 ( 35.5%) | 226 ( 64.5%) | 400 (100.0%) |

e o Fom o +
Analysis of Binary Choice Model Predictions Based on Threshold = 5000
Prediction Success

Sensitivity = actual 1ls correctly predicted 87.854%
Specificity = actual 0s correctly predicted 73.203%
Positive predictive value = predicted 1ls that were actual 1ls 84.109%
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Negative predictive value = predicted 0Os that were actual Os 78.873%
Correct prediction = actual 1ls and 0Os correctly predicted 82.250%

2. npudiaos Tadnuuudosmaionvedus Inaomsiogunn

Binary Logit Model for Binary Choice
Maximum Likelihood Estimates
Model estimated: Jun 05, 2014 at 02:23:20PM.

| |

| |

| |

| Dependent variable Y |

| Weighting variable None |

| Number of observations 200 |

| Iterations completed 9 |

| Log likelihood function -103.4559 \

| Number of parameters 16 |

| Info. Criterion: AIC = 1.19456 |

| Finite Sample: AIC = 1.20942 |

| Info. Criterion: BIC = 1.45842 |

| Info. Criterion:HQIC = 1.30134 |

| Restricted log likelihood -129.4893 \

| McFadden Pseudo R-squared .20104066 |

| Chi squared 52.06677 |

| Degrees of freedom 15 |

| Prob[ChiSgd > wvalue] = .5505981E-05 |

| Hosmer-Lemeshow chi-squared = 16.41704 |

| P-value= .02157 with deg.fr. = 7 |
e +

fomm - R it t——————— Fomm————— fom = +
|Variable| Coefficient | Standard Error |b/St.Er.|P[|Z|>z]| Mean of X|
fomm————— o —— fom e fomm———— Fo—————— fmm +
————————— +Characteristics in numerator of Prob[Y = 1]

Constant| 1.37597224 1.45548456 . 945 .3445

MALE | .86970426 .37184107 2.339 .0193 .50500000
AGE | -.00600160 .01623201 -.370 .7116 48.2250000
EDU | -.00366070 .39185935 -.009 .9925 .56000000
INC | -.100919D-04 .813964D-05 -1.240 .2150 22525.0000
oCc S | -.39106795 .90251014 -.433 .6648 .05000000
HEA | -1.08272625 .53380537 -2.028 .0425 .13000000
EXP | .37227601 .24096490 1.545 .1224 4.19000000
OFF | .05457946 .20029283 .272 .7852 2.62000000
DOC | -1.11060988 .24797527 -4.479 .0000 3.31000000
FAV | -.00907285 .25576019 -.035 L9717 3.32000000
P-HEA | .17645077 .26629474 .663 .5076 3.83500000
REL | .84930323 .23490864 3.615 .0003 3.62000000
BEL | -.23993149 .23854336 -1.006 .3145 3.64500000
INFO | -.34411368 .27326320 -1.259 .2079 3.48500000
e +

Information Statistics for Discrete Choice Model.
M=Model MC=Constants Only MO=No Model

| |
| I
| Criterion F (log L) -103.45594 -129.48933 -138.62944 |
| LR Statistic vs. MC 52.06677 .00000 .00000 |
| Degrees of Freedom 15.00000 .00000 .00000 |
| Prob. Value for LR .00001 .00000 .00000 |
| Entropy for probs. 103.45594 129.48933 138.62944 |
| NorMENized Entropy .74628 .93407 1.00000 |
| Entropy Ratio Stat. 70.34698 18.28022 .00000 |
| Bayes Info Criterion 1.43193 1.69227 1.78367 |
| BIC(no model) - BIC .35173 .09140 .00000 |
| Pseudo R-squared .20105 .00000 .00000 |
| Pct. Correct Pred. 75.50000 .00000 50.00000 |
| Means: y=0 y=1 y=2 y=3 y=4 y=5 y=6 y>=7 |
| Outcome .3500 .6500 .0000 .0000 .0000 .0000 .0000 .0000 |
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- +
o +
| Partial derivatives of probabilities with |
| respect to the vector of characteristics. |
| They are computed at the means of the Xs. |
| Observations used are All Obs. |
o +
e fomm e R e e e fomm - fomm - fomm -
|Variable| Coefficient | Standard Error |b/St.Er.|P[|Z|>z]|Elasticity]
o o o fomm fomm fomm +
————————— +Marginal effect for variable in probability
Constant| .29117790 .30483300 .955 .3395
————————— +Marginal effect for dummy variable is P|1 - P|O.
MALE | .18277924 .07621593 2.398 .0165 .13263561
AGE | -.00127004 .00343006 . 8%, L7112 -.08800957
————————— +Marginal effect for dummy variable is P|1 - P|O.
EDU | -.00077460 .08290626 -.009 .9925 -.00062331
INC | -.213561D-05 .172407D-05 -1.239 .2155 -.06912392
————————— +Marginal effect for dummy variable is P|1 - P|O.
ocC | -.08787535 .21298047 =203 L6799 -.00631363
————————— +Marginal effect for dummy variable is P|1 - P|O.
HEA | -.25333656 .12946943 -1.957 .0504 -.04732418
EXP | .07877960 .05084263 1.549 .1213 .47431811
OFF | .01154989 .04241036 .272 .7854 .04348317
DOC | -.23502295 .05102827 -4.606 .0000 -1.11784132
FAV | -.00191996 .05412711 -.035 L9717 -.00915952
P-HEA | .03733983 .05623781 . 664 .5067 .20576881
REL | .17972625 .04856296 3.701 .0002 .93489316
BEL | -.05077337 .05018588 -1.012 L3117 -.26593495
INFO | -.07282000 .05758689 -1.265 .2060 -.36466607
e it T +
| Marginal Effects for]|
o o +
| Variable | All Obs |
e et fomm +
| ONE | 29118 |
| MALE | .18278 |
| AGE I #4002:2 78
| EDU | & SX000%78 |
| INC | 00000 |
| oC | -.08788 |
| HEA == 5330 ¥
| EXP | 07878 |
| OFF | 01155 |
| DOC | =-.23502 |
| FAV [ -.00192 |
| P-HEA | 03734 |
| REL [ 17973 |
| BEL | =.05077 |
| INFO | -.07282 |

Pred.Pr .3500 .6500 .0000 .0000 .000O0 .0000 .00OO .0000
Notes: Entropy computed as Sum(i)Sum(j)Pfit(i,j)*logPfit(i,]j) .
NorMENized entropy 1is computed against MO.

Entropy ratio

BIC = 2*criterion - log(N) *degrees of freedom.
If the model has only constants or if it has no constants,
the statistics reported here are not useable.

|
|
|
statistic is computed against MO. |
|
|
|
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|Predictions for Binary Choice Model. Predicted value is |
|1 when probability is greater than .500000, 0 otherwise.|
|[Note, column or row total percentages may not sum to |
|100% because of rounding. Percentages are of full sample.|

fo———— e fom e +
|Actual] Predicted Value |

|Value | 0 1 | Total Actual
fo———— fom fom e fom e +
| 0 | 32 ( 16.0%) | 38 ( 19.0%) | 70 ( 35.0%) |
|1 | 11 ( 5.5%)| 119 ( 59.5%) | 130 ( 65.0%) |
o o fom e fom e +
| Total | 43 ( 21.5%) | 157 ( 78.5%) | 200 (100.0%) |
fo———— fom fom e fom e +

Sensitivity = actual 1s correctly predicted

Specificity = actual 0Os correctly predicted

Positive predictive value = predicted ls that were actual 1s
Negative predictive value = predicted 0Os that were actual 0Os
Correct prediction = actual 1s and 0Os correctly predicted
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